A
=

i

PA
A

A
KEKREA

5t

2021411 88H
IYDANY2EmEBHRA S
REmMHEEAERE F @E TA
t kB 1IT®R B
(O—KHES 8198 HEIFFE2%R)
IR ® BTRE =B W
BREEEALADBE
( & &% 053-421-7000 )

202252 A Hl 10A A R5E LBRTELRR
202110 EDFELSRTELIERICEAL. TEREODEBYESHLEWVLET,
1. ARFEEBZEDORR

202138 ~20225%2A8 (BAfI: %)
38 48 58 68 718 88 A
= b= E 98.7 94 4 99.1 102.8 102.8 100.9 99.7
t—E [EEE 96.0 92.4 97.1 100.7 100.8 99.0 97.6
o 2 |5 97.0 99.3 101.4 103.4 103.4 995 100.7
BEEEES 94.4 97.3 99.3 101.2 101.2 97.6 98.4
0 14 2 |5 101.7 95.0 97.7 99.3 99.4 101.3 99.1
BEEEES 101.7 95.0 97.8 99.5 99.6 101.5 99.2
— B B 2 |5 100.9 100.1 100.1 100.5 99.8 99.5 100.2
AR Bk 101.0 100.2 100.3 100.7 99.9 99.5 100.3
e 2 |5 100.8 94.9 97.6 98.8 99.6 101.9 98.9
BEEEES 100.7 94.8 97.6 98.8 99.7 102.0 98.9
98 108 118 128 1A 2A T Hf 23t
- 2 |5 101.3 101.5 100.1
oM | ERE 999 1005 98.3
o 2 |5 100.7 101.8 100.8
g%ﬂ}% 98.8 100.3 98.7
s E 100.6 99.7 99.3
FREM SmE T 10111 7002 99.6
— B 2 |5 102.2 101.6 100.6
AH giﬁ}% 102.5 101.9 100.7
= % & 98.4 98.1 98.7
RLR¥ e 98.6 98.4 98.8

GO ARRLIE. AERNET HF

3. HERFEERF LDLDERYFET,

REfreE. BIER 12, ANRBLEERRORBERHERBLEAELETY,
2. RARELLEICIEIFUFr A XDIRF—F—FYERFEHTEYFER A

4 BRNEHDT—4THY. hEOESHNEEENTEYEE A,
2. [EEBORR
38 47 5H 68 71H 8H L Hf
E 2 0 0 1 0 1 4
Bl & 2 0 1 0 0 1 4
[EERE 229 229 228 229 229 229 229
98 108 118 128 1H 28 THR REt
L 1 0 5
B & 1 0 5
B3 229 229 229

GX) HIE-BEIZIZRISYTTURELRIZEDERHEEHET .

KZE&E> R (20215288 D AXFTLSRIZEH (%)
20/38 48 58 68 718 8H I=:T
== | £ & 157.3| 161.6| 159.0| 1529 | 209.9[ 2128[ 1726
o [ REE 1088 | 1129| 1105| 1056| 1046| 106.7| 1081
98 108 118 128 | 21/18 28 THA B HA
= el 104.0 106.0 107.5 107.2 108.9 101.2 105.8 131.4
o [ RRE 1016 | 1028 | 1044| 1044| 1057 979| 1028| 1055

202242 B EAL AT R B (2020$2Fl %ﬁ) ED I‘J%E#%Fl «k*J:.—,tI:is‘E(%)

21/3H 78 8H FEA
= = 104.2 1040 1071 1062 1053 1055| 1054
(%;EE) 9R 108 118 128 | 22/18 2H THi it
101.3| 103.2 104.6

Bt




